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SN BB SR(E) - NEAY - BES ofl kot plE-L" Hms2
ANEHZH D 13,191,052 13,021,052 170,000
= 1,731,000 1,731,000 0
Xl 5,304,000 5,304,000 0
< 6,156,052 5,986,052 170,000
axtel EE(AIEBX/|S) 13,159,932 12,989,932 170,000
= 1,731,000 1,731,000 0
Xl 5,304,000 5,304,000 0
== 6,124,932 5,954,932 170,000
M BZH 45 X 13,159,932 12,989,932 170,000
= 1,731,000 1,731,000 0
Xl 5,304,000 5,304,000 0
== 6,124,932 5,954,932 170,000
MEIEZH 4 J|8t325 437,000 437,000 0
307 2I2to0| & 365,000 335,000 30,000
02 QIZHEAAIEX 365,000 335,000 30,000
OASIZEN AEDDIS &4 30,000 0 30,000
308 ItXIHHSOIA 20,000 30,000 210,000
01 IXESNBMEES 20,000 30,000 210,000
@JI=)|8tE ASIED|IY 'Y 20,000 30,000 210,000
403 XXX S X201 & 40,000 60,000 220,000
01 AXISHMA2E = 40,000 60,000 220,000
OASIZAN HEII SFH(A2) 40,000 60,000 220,000
SAHASEE MIAFRZH &0 248 440,000 270,000 170,000
307 2120l & 160,000 90,000 70,000
05 It &2 70,000 0 70,000
OFLAHE MSEZMIILHES HUHE 29 70,000 0 70,000
308 XM SOIA 280,000 180,000 100,000
10 B2 SO0CHEZ & E HE AL I 280,000 180,000 100,000
OSHSEIHN AEHINII 452 2 280,000 180,000 100,000
02219 |4(=31) 460,500 500,500 240,000
Xl 335,000 385,000 A50,000
= 125,500 115,500 10,000
308 REXIHHMSOIH 460,500 500,500 240,000
Xl 335,000 385,000 250,000
L 125,500 115,500 10,000
01 XIS EXS 460,500 500,500 240,000
00271 s4(dR) 195,000 325,000 A130,000
Xl 150,000 250,000 A100,000
S 45,000 75,000 230,000
on2l1d SH(MXH) 39,000 175,500 A136,500
X 30,000 135,000 A 105,000
= 9,000 40,500 231,500
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SN EHH . S9(3) - NEAY - BES p[E-L" HRE2
outiorEdIg E4 87,500 0 87,500
Xl 35,000 0 35,000
< 52,500 0 52,500
oxdE & HZXNA & 139,000 0 139,000
Xl 120,000 0 120,000
= 19,000 0 19,000
0221 84 14,000 74,000 260,000
308 AHXIEHH SO0 & 0 60,000 260,000
01 HXSHBARED 0 60,000 260,000
OZJTE oHIorEIIg = 0 60,000 260,000
0I201e 24" S XJ(32) 394,000 294,000 100,000
Xl 197,000 147,000 50,000
< 197,000 147,000 50,000
307 2I2tol 394,000 294,000 100,000
Xl 197,000 147,000 50,000
== 197,000 147,000 50,000
02 S4B AAMNHES 394,000 294,000 100,000
onElIg 4 ALE & 394,000 294,000 100,000
Xl 197,000 147,000 50,000
< 197,000 147,000 50,000
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